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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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P3-15_0, Day=75 (2025-06-14)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=1720

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

05:50 283 150.0 2.888 FA| {Ri&@05:50 Bz (kAfEEEE)
06:50 283 150.0 2.888 |Z=| {Ri%e06:50 B (REAEHE)
07:50 283 150.0 2.888 |Z=| {Ri%e07:50 Bz (KREAEHE)
08:50 283 150.0 2.888 [Z=| 1BRi%e08:50 Bzh (REEESE)
10:15 283 150.0 2. 888 FA| {Ri&@10:15 Bz (GRAEEE)
12:35 283 150.0 2.888 FH| 1BRi%e@12:35 Bz (kAERSE)
13:25 283 150.0 2.888 FA| {Ri&@13:25 Bzl (GkAEEEE)
14:05 283 150.0 2.888 FH| 1Ri%@14:05 B3h (KAERRSE)
14:45 283 150.0 2.888 FE| 1BRi%@14:45 Bz (kBERSE)
15:55 283 150.0 2.888 FA| 1Bi&e15:55 Bah (RAEREE)
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Warning: lcol [FVI',| "FVO’'] missing

60

323
177

- 500

- 100

- 50

Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=410, FV0=0 m=460, FV0=0 m=545, FV0=0
1.0

32.90 - o M_E - M_E
347 0.8 - 34 4
32. 85
33 0.6
32. 80 - 33 1
32 0.4
32.75 A 32 4
51 0.2 -
Warning: col ['M_E'] missing
32.70 A
T T T O 0 T T T T T T T T T T T T
600 800 1000 0.0 0.2 0.4 0.6 0.8 1.0 472.0 472.5 473.0 473.5 474.0 545 550 555
m=630,m FV0=0 m=780, FV0=0 m=825,m FV0=0 m=875,m FV0=0
—e— ME 34 - —o— ME —o— ME 341 —o— ME
34
34 -
33 A 33 A
33 33
32 4 32
32
32
31 4 31 4
31 1
T T T T T T T T T T T T
630 635 640 780 785 790 825 830 835 875 880 885
m=915,m FV0=0 m=1075m FV0=0 m m=410,m FV0=0
1.0
34.5 A - M_E 30. 90 A - M_E
34.0 0.8 -
30. 85
33.5
0.6 1
33.0 A 30. 80 A
0.4 -
32.5 1
30. 75 A
32.0 A 0.2 A
Warning: col "MW ] missing
31.5 1 30. 70 0.0
915 920 925 1075 1080 1085 600 800 1000 . 0.0 0.2 0.4 0.6 0.8 1.
m=460,m FV0=0 m=545,m FV0=0 m=630,m FV0=0 m=780, FV0=0
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41.90 7@ —— nw | *°] —— MW —— MW | ] —-— MW
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40. 0
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